

# New Exact Solutions for Boussinesq Type Equations by Using $(G'/G, 1/G)$ and $(1/G')$ -Expansion Methods

S. DEMIRAY, Ö. ÜNSAL AND A. BEKIR\*

Eskişehir Osmangazi University, Art-Science Faculty, Department of Mathematics-Computer, Eskişehir, Turkey

(Received July 23, 2013; in final form February 26, 2014)

In this paper, the  $(G'/G, 1/G)$  and  $(1/G')$ -expansion methods with the aid of Maple are used to obtain new exact traveling wave solutions of the Boussinesq equation and the system of variant Boussinesq equations. The travelling wave solutions are expressed by the hyperbolic functions, the trigonometric functions, and the rational functions. It is shown that the proposed method provides a powerful mathematical tool for solving nonlinear wave equations in mathematical physics and engineering.

DOI: [10.12693/APhysPolA.125.1093](https://doi.org/10.12693/APhysPolA.125.1093)

PACS: 02.30.Jr, 02.70.Wz, 05.45.Yv, 94.05.Fg

## 1. Introduction

Finding exact solutions of nonlinear evolution equations (NEEs) is a very important part of nonlinear physical phenomena. It is a fact that exact solutions provide much physical information and help one to understand the mechanism that governs some physical models, such as plasma physics, optical fibers, biology, solid state physics, chemical physics, and so on. In recent years, different methods for finding exact solutions of nonlinear evolution equations have been proposed, developed and extended. These are the Jacobi elliptic function method [1], the Hirota bilinear transformation [2], the Weierstrass function method [3], the Darboux and Backlund transform [4], the Wronskian technique [5], homotopy perturbation method [6], the theta function method [7], symmetry method [8, 9], the homogeneous balance method [10, 11], sine/cosine method [12–14],  $F$ -expansion method [15], exp function method [16–19], the Painlevé expansion method [20], the transformed rational function method [21], the inverse scattering method [22–24], the mapping method [25], tanh-coth method [26, 27], the collocation method [28], first integral method [29, 30], the rank analysis method [31], the parameter-expansion method [32], the auxiliary equation method [33],  $(G'/G)$ -expansion method [34–38]. The key idea of the original  $(G'/G)$ -expansion method is that the exact solutions of nonlinear partial differential equations (PDEs) can be expressed by a polynomial in one variable  $(G'/G)$  in which  $G = G(\xi)$  satisfies the second ordinary differential equation  $G''(\xi) + \lambda G'(\xi) + \mu G(\xi) = 0$ , where  $\lambda$  and  $\mu$  are constants.

In the present paper, we will use the two-variable  $(G'/G, 1/G)$ -expansion method and  $(1/G')$ -expansion method.  $(G'/G, 1/G)$ -expansion method is considered as a generalization of the original  $(G'/G)$ -expansion method. The key idea of the two-variable  $(G'/G, 1/G)$ -

-expansion method is that the exact traveling wave solutions of nonlinear PDEs can be expressed by a polynomial in two variables  $(G'/G)$  and  $(1/G)$ , in which  $G = G(\xi)$  satisfies a second-order linear ordinary differential equation (ODE)  $G''(\xi) + \lambda G(\xi) = \mu$ . Similarly, the main idea of  $(1/G')$ -expansion method is that our solutions can be expressed by a polynomial  $(1/G')$  and  $G = G(\xi)$  satisfies a second-order linear ODE  $G''(\xi) + \lambda G'(\xi) + \mu = 0$  where  $\lambda$  and  $\mu$  are constants. For both methods, the degree of the polynomials can be determined by considering the homogeneous balance between the highest-order derivatives and nonlinear terms in the given nonlinear PDEs. Besides, the coefficients of this polynomial can be obtained by solving a set of algebraic equations resulting from the process of using the method. As a pioneer work, Li et al. [39] have applied the two-variable  $(G'/G, 1/G)$ -expansion method and found the exact solutions of the Zakharov equations. Then Zayed and Abdelaziz [40, 41] determined exact solutions of some nonlinear evolution equations.  $(1/G')$ -expansion method has first been introduced by Yokuş [42].

The present paper investigates the applicability and effectiveness of the  $(G'/G, 1/G)$ -expansion method and  $(1/G')$ -expansion method on nonlinear evolution equations and systems of NEEs. In Sect. 2 and Sect. 3 we describe these methods for finding exact travelling wave solutions of nonlinear evolution equations. In Sect. 4, we illustrate these methods in detail with the Boussinesq equation and the system of variant Boussinesq equations. Finally, some conclusions are given.

## 2. The $(G'/G, 1/G)$ expansion method

In this section, we describe the main steps of the  $(G'/G, 1/G)$ -expansion method to find travelling wave solutions of nonlinear evolution equations. Li et al. [39] has summarized the  $(G'/G, 1/G)$ -expansion method as follows.

Consider the second order linear ODE (LODE)

$$G''(\xi) + \lambda G(\xi) = \mu \quad (2.1)$$

and we take

\*corresponding author; e-mail: [abekir@ogu.edu.tr](mailto:abekir@ogu.edu.tr)

$$\phi = G'/G, \quad \psi = 1/G \tag{2.2}$$

for simplicity here and after. Using (2.1) and (2.2), we get

$$\phi' = -\phi^2 + \mu\psi - \lambda, \quad \psi' = -\phi\psi. \tag{2.3}$$

From the three cases of the general solutions of the LODE (2.1), we have:

*Case 1.* When  $\lambda < 0$ , the general solutions of the LODE (2.1) is given as

$$G(\xi) = A_1 \sinh(\sqrt{-\lambda}\xi) + A_2 \cosh(\sqrt{-\lambda}\xi) + \mu/\lambda$$

and we have

$$\psi^2 = \frac{-\lambda}{\lambda^2\sigma + \mu^2}(\phi^2 - 2\mu\psi + \lambda), \tag{2.4}$$

where  $A_1$  and  $A_2$  are two arbitrary constants and  $\sigma = A_1^2 - A_2^2$ .

*Case 2.* When  $\lambda > 0$ , the general solutions of the LODE (2.1) is clearly

$$G(\xi) = A_1 \sin(\sqrt{\lambda}\xi) + A_2 \cos(\sqrt{\lambda}\xi) + \mu/\lambda$$

and we have

$$\psi^2 = \frac{\lambda}{\lambda^2\sigma - \mu^2}(\phi^2 - 2\mu\psi + \lambda), \tag{2.5}$$

where  $A_1$  and  $A_2$  are two arbitrary constants and  $\sigma = A_1^2 + A_2^2$ .

*Case 3.* When  $\lambda = 0$ , the general solutions of the LODE (2.1) is

$$G(\xi) = \frac{\mu}{2}\xi^2 + A_1\xi + A_2$$

and we have

$$\psi^2 = \frac{1}{A_1^2 - 2\mu A_2}(\phi^2 - 2\mu\psi), \tag{2.6}$$

where  $A_1$  and  $A_2$  are two arbitrary constants.

Now consider a nonlinear evolution equation with time and spatial variable one each,

$$P(u, u_t, u_x, u_{tt}, u_{xt}, u_{xx}, \dots) = 0. \tag{2.7}$$

In general, the left-hand side of Eq. (2.7) is a polynomial in  $u$  and its various partial derivatives. The main steps of the  $(G'/G, 1/G)$  expansion method are:

**Step 1.** By coordinates transformation  $\xi = x - ct$  and with  $u(x, t) = u(\xi)$ , Eq. (2.7) can be reduced to an ODE on  $u(\xi)$  with

$$P(u, -cu', u', c^2u'', -cu', u'', \dots) = 0. \tag{2.8}$$

**Step 2.** Suppose that the solution of ODE (2.8) can be expressed by a polynomial in  $\phi$  and  $\psi$  as

$$u(\xi) = \sum_{i=0}^N a_i \phi^i + \sum_{i=1}^N b_i \phi^{i-1} \psi, \tag{2.9}$$

where  $G = G(\xi)$  satisfies the second order LODE (2.1),  $a_i$  ( $i = 0, \dots, N$ ),  $b_i$  ( $i = 1, \dots, N$ ),  $c$ ,  $\lambda$  and  $\mu$  are constants to be determined later, and the positive integer  $N$  can be determined by using homogeneous balance between the highest order derivatives and the nonlinear terms appearing in ODE (2.8).

**Step 3.** Substituting (2.9) into Eq. (2.8), using (2.3) and (2.4) (here case 1 is taken as example) the left-hand side of (2.8) can be converted into a polynomial in terms of  $\phi$  and  $\psi$ , in which the degree of  $\psi$  is not larger than 1.

Equating each coefficient of the polynomial to zero yields a system of algebraic equations in  $a_i$  ( $i = 0, \dots, N$ ),  $b_i$  ( $i = 1, \dots, N$ ),  $c$ ,  $\lambda$  ( $\lambda < 0$ ),  $\mu$ ,  $A_1$ , and  $A_2$ .

**Step 4.** Solve the algebraic solutions in the Step 3 with the aid of maple. Substituting the values of  $a_i$  ( $i = 0, \dots, N$ ),  $b_i$  ( $i = 1, \dots, N$ ),  $c$ ,  $\lambda$ ,  $\mu$ ,  $A_1$ , and  $A_2$  obtained into (2.9), one can obtain the travelling wave solutions expressed by the hyperbolic functions of Eq. (2.8).

**Step 5.** Similar to Step 3 and Step 4, substituting (2.9) into Eq. (2.8), using (2.3) and (2.5) (or (2.3) and (2.6)), we obtain the travelling wave solutions of Eq. (2.8) expressed by trigonometric functions (or expressed by rational functions).

### 3. The $(1/G')$ expansion method

**Step 1.** This step is the same as the other method, that means, a PDE (2.7) can be converted to ODE (2.8).

**Step 2.** Suppose that the solution of ODE (2.8) can be expressed by a polynomial  $(1/G')$  as follows:

$$u(\xi) = \sum_{i=0}^N a_i \left( \frac{1}{G'} \right)^i, \tag{3.1}$$

where  $G = G(\xi)$  satisfies the second order LODE

$$G''(\xi) + \lambda G'(\xi) + \mu = 0, \tag{3.2}$$

where  $a_i$  ( $i = 0, \dots, N$ ),  $\lambda$ ,  $\mu$  are constants to be determined later and the positive integer  $N$  is homogeneous balance number.

**Step 3.** The solution of the differential Eq. (3.2) is

$$G(\xi) = -(\mu\xi)/\lambda + c_1 e^{-\lambda\xi} + c_2. \tag{3.3}$$

Then

$$\frac{1}{G'(\xi)} = \frac{\lambda}{-\mu + \lambda c_1 [\cosh(\xi\lambda) - \sinh(\xi\lambda)]} \tag{3.4}$$

can be written.

**Step 4.** By substituting (3.1) into (2.8) and using second order LODE (3.2), the left-hand side of (2.8) can be converted into a polynomial in terms of  $(1/G')$ . Equating each coefficient of the polynomial to zero yields a system of algebraic equations and solving the algebraic equations by Maple we obtain  $a_i$ ,  $c$ ,  $\lambda$ , and  $\mu$  constants.

### 4. Applications of the $(G'/G, 1/G)$ and $(1/G')$ expansion method

#### 4.1. The Boussinesq equation

##### 4.1.1. Using the $(G'/G, 1/G)$ expansion method

We consider the Boussinesq equation

$$u_{tt} - u_{xx} - (u^2)_{xx} + u_{xxxx} = 0, \tag{4.1.1}$$

which describe the surface water waves whose horizontal scale is much larger than the depth of the water. Previously, some authors found exact solutions of Eq. (4.1.1) [43–45]. Using the transformation  $\xi = (x-ct)$ , Eq. (4.1.1) is carried to an ODE

$$(c^2 - 1)u'' - (u^2)'' + u'''' = 0, \tag{4.1.2}$$

where the prime denotes the derivation with respect to  $\xi$ . Integrating Eq. (4.1.2) twice and setting the constants of

integration equal to zero we obtain

$$(c^2 - 1)u - u^2 + u'' = 0. \tag{4.1.3}$$

By balancing  $u''$  and  $u^2$  we get

$$N + 2 = 2N, \quad N = 2. \tag{4.1.4}$$

Consequently from (2.9) we get

$$u(\xi) = a_0 + a_1\phi + a_2\phi^2 + b_1\psi + b_2\phi\psi, \tag{4.1.5}$$

where  $a_0, a_1, a_2, b_1,$  and  $b_2$  are constants to be determined later. As we mentioned above there are three cases to be discussed.

*Case 1.* When  $\lambda < 0$  (hyperbolic function solutions)

Substituting (4.1.5) into Eq. (4.1.3), we use (2.3) and (2.4). The left-hand side of (4.1.3) becomes a polynomial in  $\phi$  and  $\psi$ . Setting the each coefficient of equation to zero yields a system of algebraic equations in  $a_0, a_1, a_2, b_1, b_2, c, \sigma, \mu,$  and  $\lambda$ :

$$\begin{aligned} \phi^3 : & 2b_1\lambda b_2 - 2a_1a_2\lambda^2\sigma + 6b_2\lambda\mu \\ & - 2a_1a_2\mu^2 + 2a_1\lambda^2\sigma + 2a_1\mu^2, \\ \phi^2 : & b_1\lambda\mu - a_1^2\mu^2 - 2a_0a_2\mu^2 + c^2a_2\mu^2 - 2a_0a_2\lambda^2\sigma \\ & + b_1^2\lambda + 6a_2\mu^2\lambda + c^2a_2\lambda^2\sigma - a_2\mu^2 + 8a_2\lambda^3\sigma \\ & - a_2\lambda^2\sigma - a_1^2\lambda^2\sigma + b_2^2\lambda^2, \\ \psi\phi^2 : & -2a_2b_1\mu^2 - 2a_1b_2\lambda^2\sigma + 2b_1\lambda^2\sigma - 2a_1b_2\mu^2 \\ & - 2a_2b_1\lambda^2\sigma + 2b_1\mu^2 - 10a_2\mu\lambda^2\sigma - 2b_2^2\lambda\mu - 10a_2\mu^3, \\ \phi : & -2a_0a_1\mu^2 - 2a_0a_1\lambda^2\sigma + c^2a_1\mu^2 + 6b_2\lambda^2\mu - a_1\mu^2 \\ & + 2b_1b_2\lambda^2 + 2a_1\mu^2\lambda + c^2a_1\lambda^2\sigma + 2a_1\lambda^3\sigma - a_1\lambda^2\sigma, \\ \psi\phi : & -4b_1\lambda b_2\mu - 2a_1b_1\mu^2 - 2a_0b_2\lambda^2\sigma - 2a_0b_2\mu^2 \\ & - 3a_1\mu\lambda^2\sigma + c^2b_2\mu^2 + 5b_2\lambda^3\sigma + c^2b_2\lambda^2\sigma - b_2\lambda^2\sigma \\ & - 7b_2\lambda\mu^2 - b_2\mu^2 - 2a_1b_1\lambda^2\sigma - 3a_1\mu^3, \\ \phi^0 : & b_1\lambda^2\mu + c^2a_0\lambda^2\sigma - a_0\lambda^2\sigma + 2a_2\lambda^4\sigma - a_0\mu^2 \\ & + c^2a_0\mu^2 - a_0^2\lambda^2\sigma + b_1^2\lambda^2 - a_0^2\mu^2, \\ \psi\phi^0 : & -2a_0b_1\mu^2 - b_1\mu^2 - b_1\lambda\mu^2 + c^2b_1\lambda^2\sigma \\ & - 2a_0b_1\lambda^2\sigma - 4a_2\mu\lambda^3\sigma + c^2b_1\mu^2 + b_1\lambda^3\sigma \\ & - 2b_1^2\lambda\mu - b_1\lambda^2\sigma. \end{aligned} \tag{4.1.6}$$

Solving the algebraic equations by Maple we get,

$$\begin{aligned} a_0 = 3\lambda, \quad a_1 = 0, \quad a_2 = 3, \quad b_1 = -3\mu, \\ b_2 = \sqrt{\frac{9\lambda^2\sigma + 9\mu^2}{-\lambda}}, \quad c = \sqrt{1 + \lambda}. \end{aligned} \tag{4.1.7}$$

Substituting these solutions into (4.1.5), using (2.2) and (2.4) we obtain travelling wave solution of (4.1.1) as follows:

$$\begin{aligned} u(\xi) = 3\lambda - \frac{3\mu}{A_1 \sinh(\xi\sqrt{-\lambda}) + A_2 \cosh(\xi\sqrt{-\lambda}) + \mu/\lambda} \\ + \frac{3[A_1 \cosh(\xi\sqrt{-\lambda})\sqrt{-\lambda} + A_2 \sinh(\xi\sqrt{-\lambda})\sqrt{-\lambda}]^2}{[A_1 \sinh(\xi\sqrt{-\lambda}) + A_2 \cosh(\xi\sqrt{-\lambda}) + \mu/\lambda]^2} \\ + \frac{[A_1 \cosh(\xi\sqrt{-\lambda})\sqrt{-\lambda} + A_2 \sinh(\xi\sqrt{-\lambda})\sqrt{-\lambda}]}{[A_1 \sinh(\xi\sqrt{-\lambda}) + A_2 \cosh(\xi\sqrt{-\lambda}) + \mu/\lambda]^2} \end{aligned}$$

$$\times \sqrt{\frac{9\lambda^2\sigma + 9\mu^2}{-\lambda}}, \tag{4.1.8}$$

where

$$\xi = x - (\sqrt{1 + \lambda})t \quad \text{and} \quad \sigma = A_1^2 - A_2^2. \tag{4.1.9}$$

In particular if we set  $A_1 = 0, A_2 > 0$  and  $\mu = 0$  in (4.1.8) then we have solitary solution

$$\begin{aligned} u(\xi) = 3\lambda[1 - \tanh^2(\xi\sqrt{-\lambda}) \\ + i \tanh(\xi\sqrt{-\lambda})\operatorname{sech}(\xi\sqrt{-\lambda})], \end{aligned} \tag{4.1.10}$$

but if we set  $A_2 = 0, A_1 > 0$  and  $\mu = 0$  then we have solitary solution

$$\begin{aligned} u(\xi) = 3\lambda[1 - \coth^2(\xi\sqrt{-\lambda}) \\ + \coth(\xi\sqrt{-\lambda})\operatorname{csch}(\xi\sqrt{-\lambda})]. \end{aligned} \tag{4.1.11}$$

*Case 2.* When  $\lambda > 0$  (trigonometric function solutions)

Substituting (4.1.5) into Eq. (4.1.3), we use (2.3) and (2.5). The left-hand side of (4.1.3) becomes a polynomial in  $\phi$  and  $\psi$ . Vanishing each coefficient of this polynomial, we get the system of algebraic equations which can be solved by Maple to find the following results:

$$\begin{aligned} a_0 = 3\lambda, \quad a_1 = 0, \quad a_2 = 3, \quad b_1 = -3\mu, \\ b_2 = \sqrt{\frac{-9\lambda^2\sigma + 9\mu^2}{-\lambda}}, \quad c = \sqrt{1 + \lambda}. \end{aligned} \tag{4.1.12}$$

Substituting these solutions into (4.1.5), using (2.2) and (2.5) we obtain travelling wave solution of (4.1.1) as follows:

$$\begin{aligned} u(\xi) = 3\lambda + \frac{3[A_1 \cos(\xi\sqrt{\lambda})\sqrt{\lambda} - A_2 \sin(\xi\sqrt{\lambda})\sqrt{\lambda}]^2}{[A_1 \sin(\xi\sqrt{\lambda}) + A_2 \cos(\xi\sqrt{\lambda}) + \mu/\lambda]^2} \\ - \frac{3\mu}{A_1 \sin(\xi\sqrt{\lambda}) + A_2 \cos(\xi\sqrt{\lambda}) + \mu/\lambda} \\ + \sqrt{\frac{9\mu^2 - 9\lambda^2\sigma}{-\lambda}} \\ \times \frac{[A_1 \cos(\xi\sqrt{\lambda})\sqrt{\lambda} - A_2 \sin(\xi\sqrt{\lambda})\sqrt{\lambda}]}{[A_1 \sin(\xi\sqrt{\lambda}) + A_2 \cos(\xi\sqrt{\lambda}) + \mu/\lambda]^2}, \end{aligned} \tag{4.1.13}$$

where

$$\xi = x - (\sqrt{1 + \lambda})t \quad \text{and} \quad \sigma = A_1^2 + A_2^2. \tag{4.1.14}$$

In particular, if we set  $A_1 = 0, A_2 > 0$  and  $\mu = 0$  in (4.1.13) then we have periodic solution

$$u(\xi) = 3\lambda[1 + \tan^2(\xi\sqrt{\lambda}) - \tan(\xi\sqrt{\lambda})\sec(\xi\sqrt{\lambda})], \tag{4.1.15}$$

while we set  $A_2 = 0, A_1 > 0$  and  $\mu = 0$  then we have

$$u(\xi) = 3\lambda[1 + \cot^2(\xi\sqrt{\lambda}) + \cot(\xi\sqrt{\lambda})\csc(\xi\sqrt{\lambda})]. \tag{4.1.16}$$

*Case 3.*  $\lambda = 0$  (rational function solutions)

Substituting (4.1.5) into Eq. (4.1.3), using (2.3) and (2.6) the left-hand side of (4.1.3) becomes a polynomial in  $\phi$  and  $\psi$ . Vanishing each coefficient of this polynomial, we get the system of algebraic equations which can be solved by Maple to find the following results:

$$a_0 = 0, \quad a_1 = 0, \quad a_2 = 3, \quad b_1 = -3\mu,$$

$$b_2 = \sqrt{-18\mu A_2 + 9A_1^2}, \quad c = -1. \tag{4.1.17}$$

Substituting these solutions into (4.1.5), using (2.2) and (2.6) we obtain travelling wave solution of (4.1.1) as follows:

$$u(\xi) = \frac{3(\mu\xi + A_1)^2}{\left(\frac{\mu\xi^2}{2} + A_1\xi + A_2\right)^2} - \frac{3\mu}{\frac{\mu\xi^2}{2} + A_1\xi + A_2} + \frac{\sqrt{-18\mu A_2 + 9A_1^2}(\mu\xi + A_1)}{\left(\frac{\mu\xi^2}{2} + A_1\xi + A_2\right)^2}, \tag{4.1.18}$$

where  $\xi = x + t$ .

Let us note that our solutions are different from the given ones in [43–45].

4.1.2. Using the  $(1/G')$  expansion method

From (4.1.4) we know the balance number is  $N = 2$ , so if we substitute this number into (3.1), our solution can be expressed as follows:

$$u(\xi) = a_0 + a_1 \left(\frac{1}{G'}\right) + a_2 \left(\frac{1}{G'}\right)^2. \tag{4.1.19}$$

If we substitute (4.1.19) into ODE (4.1.3) using (3.2) the left hand side of ODE becomes a polynomial in  $(1/G')$ . Setting the each coefficient of equation to zero yields a system of algebraic equations which can be solved by Maple to find following results:

$$a_0 = 0, \quad a_1 = 6\mu\lambda, \quad a_2 = 6\mu^2, \quad c = \sqrt{1 - \lambda^2}. \tag{4.1.20}$$

If we solve our second order LODE (3.2):

$$G'''(\xi) + \lambda G'(\xi) + \mu = 0,$$

we find the solution

$$G(\xi) = c_1 \frac{-e^{-\lambda\xi}}{\lambda} - \mu/\lambda\xi + c_2. \tag{4.1.21}$$

By substituting (4.1.20) into (4.1.19) using (4.1.21) we obtain

$$u(\xi) = \frac{6\mu\lambda^2}{-\mu + c_1\lambda[\cosh(\xi\lambda) - \sinh(\xi\lambda)]} + \frac{6\mu^2\lambda^2}{-\mu + c_1\lambda[\cosh(\xi\lambda) - \sinh(\xi\lambda)]^2}, \tag{4.1.22}$$

where  $\xi = x - \sqrt{1 - \lambda^2}t$ .

4.2. The system of variant Boussinesq equations

4.2.1. Using the  $(G'/G, 1/G)$  expansion method

The system of variant Boussinesq equations is given as

$$u_t + v_x + u_x u = 0, \tag{4.2.1}$$

$$v_t + (uv)_x + u_{xxx} = 0, \tag{4.2.2}$$

where  $u = u(x, t)$  represents the velocity and  $v = v(x, t)$  total depth. Some exact solutions of Eq. (4.2.1) have been given by several authors [46, 34]. Using the wave variable

$$u(x, t) = u(\xi), \quad v(x, t) = v(\xi), \quad \xi = x - ct, \tag{4.2.3}$$

the system is carried to a system of ODEs

$$-cu' + v' + u'u = 0, \tag{4.2.4}$$

$$-cv' + (uv)' + u''' = 0. \tag{4.2.5}$$

Integrating Eqs. (4.2.4) and (4.2.5) once we find

$$v = cu - \frac{u^2}{2} + \alpha, \tag{4.2.6}$$

$$-cv + uv + u'' = \beta, \tag{4.2.7}$$

where  $\alpha, \beta$  are the constants of integral. Substituting (4.2.6) into (4.2.7) we obtain

$$u'' = (\beta + \alpha c) + (c^2 - \alpha)u - \frac{3c}{2}u^2 + \frac{1}{2}u^3 = 0. \tag{4.2.8}$$

Balancing  $u''$  with  $u^3$  gives

$$N = 1. \tag{4.2.9}$$

From (2.9) we get

$$u(\xi) = a_0 + a_1\phi + b_1\psi, \tag{4.2.10}$$

where  $a_0, a_1$  and  $b_1$  are constants determined later.

Case 1. When  $\lambda < 0$

Substituting (4.2.10) into (4.2.8) using (2.3) and (2.4). The left hand side of equation becomes a polynomial in  $\phi$  and  $\psi$ , setting each coefficient of equation to zero to get the system of equations which can be solved by Maple to find the following results:

$$a_0 = c, \quad a_1 = -1, \quad b_1 = \sqrt{-(\lambda^2\sigma + \mu^2)/\lambda},$$

$$c = c, \quad \alpha = -\lambda/2 - c^2/2, \quad \beta = 0. \tag{4.2.11}$$

Substituting these results into (4.2.10) using (2.2) and (2.4) we obtain

$$u(\xi) = c \tag{4.2.12}$$

$$- \frac{A_1 \cosh(\xi\sqrt{-\lambda})\sqrt{-\lambda} + A_2 \sinh(\xi\sqrt{-\lambda})\sqrt{-\lambda}}{A_1 \sinh(\xi\sqrt{-\lambda}) + A_2 \cosh(\xi\sqrt{-\lambda}) + \mu/\lambda} + \frac{\sqrt{-(\lambda^2\sigma - \mu^2/\lambda)}}{A_1 \sinh(\xi\sqrt{-\lambda}) + A_2 \cosh(\xi\sqrt{-\lambda}) + \mu/\lambda},$$

where  $\xi = x - ct$  and  $\sigma = A_1^2 - A_2^2$ .

In particular if we set  $A_1 = 0, A_2 > 0$  and  $\mu = 0$  then we have solitary solution

$$u(\xi) = c - \sqrt{\lambda}[i \tanh(\xi\sqrt{-\lambda}) - \operatorname{sech}(\xi\sqrt{-\lambda})], \tag{4.2.13}$$

while we set  $A_2 = 0, A_1 > 0$  and  $\mu = 0$ ; then we have solitary solution

$$u(\xi) = c - \sqrt{-\lambda}[\coth(\xi\sqrt{-\lambda}) - \operatorname{csch}(\xi\sqrt{-\lambda})]. \tag{4.2.14}$$

Case 2. When  $\lambda > 0$

Substituting (4.2.10) into (4.2.8) using (2.3) and (2.5). The left hand side of equation becomes a polynomial in  $\phi$  and  $\psi$ , vanishing each coefficient of equation to get the system of equations which can be solved by Maple to find following results:

$$a_0 = c, \quad a_1 = -1, \quad b_1 = \sqrt{(\lambda^2\sigma - \mu^2)/\lambda},$$

$$c = c, \quad \alpha = -\lambda/2 - c^2/2, \quad \beta = 0. \tag{4.2.15}$$

Substituting these results into (4.2.10) using (2.2) and (2.4) we obtain travelling wave solution

$$u(\xi) = c - \frac{A_1 \cos(\xi\sqrt{\lambda})\sqrt{\lambda} - A_2 \sin(\xi\sqrt{\lambda})\sqrt{\lambda}}{A_1 \sin(\xi\sqrt{\lambda}) + A_2 \cos(\xi\sqrt{\lambda}) + \mu/\lambda} + \frac{\sqrt{(\lambda^2\sigma - \mu^2)/\lambda}}{A_1 \sin(\xi\sqrt{\lambda}) + A_2 \cos(\xi\sqrt{\lambda}) + \mu/\lambda}, \tag{4.2.16}$$

where  $\xi = x - ct$  and  $\sigma = A_1^2 + A_2^2$ .

In particular if we set  $A_1 = 0, A_2 > 0$  and  $\mu = 0$  then

we have periodic solution

$$u(\xi) = c + \sqrt{\lambda}[\tan(\xi\sqrt{\lambda}) + \sec(\xi\sqrt{\lambda})], \quad (4.2.17)$$

while we set  $A_2 = 0$ ,  $A_1 > 0$  and  $\mu = 0$  then we have periodic solution

$$u(\xi) = c - \sqrt{\lambda}[\cot(\xi\sqrt{\lambda}) - \csc(\xi\sqrt{\lambda})]. \quad (4.2.18)$$

Case 3. When  $\lambda = 0$

Substituting (4.2.10) into (4.2.8) using (2.3) and (2.6). The left hand side of equation becomes a polynomial in  $\phi$  and  $\psi$ , vanishing each coefficient of equation to get the system of equations which can be solved by Maple to find the following results:

$$\begin{aligned} a_0 = c, \quad a_1 = -1, \quad b_1 = \sqrt{A_1^2 - 2\mu A_2}, \\ c = c, \quad \alpha = -\frac{c^2}{2}, \quad \beta = 0. \end{aligned} \quad (4.2.19)$$

Substituting these results into (4.2.10) using (2.2) and (2.6) we obtain travelling wave solution

$$\begin{aligned} u(\xi) = c - \frac{\mu\xi + A_1}{\frac{\mu\xi^2}{2} + A_1\xi + A_2} \\ + \frac{\sqrt{A_1^2 - 2\mu A_2}}{\frac{\mu\xi^2}{2} + A_1\xi + A_2}, \end{aligned} \quad (4.2.20)$$

where  $\xi = x - ct$ .

These are new exact solutions and different from the solutions found in [46, 34].

#### 4.2.2. Using the $(1/G')$ expansion method

From (4.2.9) we know the balance number is  $N = 1$  so if we substitute this number into (3.1), our solution can be expressed as follows:

$$u(\xi) = a_0 + a_1 \left( \frac{1}{G'} \right). \quad (4.2.21)$$

If we substitute (4.1.19) into ODE (4.2.8) using (3.2) the left hand side of ODE becomes a polynomial in  $(1/G')$ . Setting the each coefficient of equation to zero yields a system of algebraic equations which can be solved by Maple to find the following results:

$$\begin{aligned} a_0 = \lambda + \sqrt{-2\alpha + \lambda^2}, \quad a_1 = 6\mu, \\ c = \sqrt{-2\alpha + \lambda^2}, \quad \beta = 0. \end{aligned} \quad (4.2.22)$$

By substituting (4.2.22) into (4.2.21) using (4.1.21) we obtain

$$\begin{aligned} u(\xi) = \lambda + \sqrt{-2\alpha + \lambda^2} \\ + \frac{2\mu\lambda}{-\mu + c_1\lambda[\cosh(\xi\lambda) - \sinh(\xi\lambda)]}, \end{aligned} \quad (4.2.23)$$

where  $\xi = x - \sqrt{-2\alpha + \lambda^2}t$ .

### 5. Conclusion

In this work, we have used the two-variable  $(G'/G, 1/G)$ -expansion method and  $(1/G')$ -expansion method to derive new exact solutions of the Boussinesq equation and the system of variant Boussinesq equations. We show that the solutions we found in this article are different from the solutions presented by other authors in recent papers. We foresee that our results can be

found potentially useful for applications in mathematical physics and engineering. All solutions in this paper have been found by aid of Maple packet program. Thus, we conclude that the proposed method can be extended to solve the nonlinear problems which arise in the theory of solitons and other areas.

### References

- [1] G.T. Liu, T.Y. Fan, *Phys. Lett. A* **345**, 161 (2005).
- [2] R. Hirota, in: *Backlund Transformations*, Eds. R. Bullough, P. Caudrey, Springer, Berlin 1980, p. 1157.
- [3] Z. Yan, *Chaos Solitons Fractals* **21**, 1013 (2004).
- [4] V.B. Matveev, M.A. Salle, *Darboux Transformation and Solitons*, Springer, Berlin 1991.
- [5] N.C. Freeman, J.J.C. Nimmo, *Proc. R. Soc. Lond. A* **389**, 319 (1983).
- [6] J.H. He, *Appl. Math. Comput.* **151**, 287 (2004).
- [7] K.W. Chow, *J. Math. Phys.* **36**, 4125 (1995).
- [8] G.W. Bluman, S. Kumei, *Symmetries and Differential Equations*, Springer, New York 1989.
- [9] C.M. Khalique, A. Biswas, *Commun. Nonlinear Sci. Numer. Simul.* **14**, 4033 (2009).
- [10] M. Wang, *Phys. Lett. A* **199**, 169 (1995).
- [11] E. Fan, H. Zhang, *Phys. Lett. A* **246**, 403 (1998).
- [12] C. Yan, *Phys. Lett. A* **224**, 77 (1996).
- [13] A. Bekir, *Phys. Scr.* **77**, 501 (2008).
- [14] A.M. Wazwaz, *Math. Comp. Model.* **40**, 499 (2004).
- [15] J. Liu, K. Yang, *Chaos Solitons Fract.* **22**, 111 (2004).
- [16] J.H. He, M.A. Abdou, *Chaos Solitons Fract.* **34**, 1421 (2006).
- [17] J.H. He, X.H. Wu, *Chaos Solitons Fract.* **30**, 700 (2006).
- [18] T. Özis, I. Aslan, *Phys. Lett. A* **372**, 7011 (2008).
- [19] H. Naher, F.A. Abdullah, M.A. Akbar, *J. Appl. Math.* **2012**, 575387 (2012).
- [20] S.Y. Lou, X.Y. Tang, *The Method of Nonlinear Mathematics and Physics*, Science, Beijing 2006.
- [21] W.X. Ma, J.H. Lee, *Chaos Solitons Fract.* **42**, 1356 (2009).
- [22] M.J. Ablowitz, H. Segur, *Solitons and Inverse Scattering Transform*, SIAM, Philadelphia 1981.
- [23] M.J. Ablowitz, P.A. Clarkson, *Solitons, Nonlinear Evolution Equations and Inverse Scattering Transform*, Cambridge University Press, Cambridge 1990.
- [24] V.O. Vakhnenko, E.J. Parkes, A.J. Morrison, *Chaos Solitons Fract.* **17**, 683 (2003).
- [25] Y.Z. Peng, *Chin. J. Phys.* **41**, 103 (2003).
- [26] A.M. Wazwaz, *Appl. Math. Comput.* **188**, 1467 (2007).
- [27] W. Malfliet, W. Hereman, *Phys. Scr.* **54**, 563 (1996).
- [28] A.A. Soliman, K.R. Raslan, *Int. J. Comput. Math.* **78**, 399 (2001).
- [29] A. Bekir, Ö. Ünsal, *Phys. Scr.* **85**, 065003 (2012).
- [30] A. Bekir, Ö. Ünsal, *Pramana J. Phys.* **79**, 3 (2012).

- [31] X. Feng, *Int. J. Theor. Phys.* **39**, 207 (2000).
- [32] J.H. He, D.H. Shou, *Int. J. Nonlinear Sci. Numer. Simul.* **8**, 121 (2007).
- [33] Sirendaoreji, *Chaos Soliton Fract.* **19**, 147 (2004).
- [34] M. Wang, X. Li, J. Zhang, *Phys. Lett. A* **372**, 417 (2008).
- [35] X. Liu, L. Tian, Y. Wu, *Appl. Math. Comput.* **217**, 1376 (2010).
- [36] J.M. Zuo, *Appl. Math. Comput.* **217**, 376 (2010).
- [37] H. Naher, F.A. Abdullah, *Appl. Math.* **3**, 1144 (2012).
- [38] H. Naher, F.A. Abdullah, *AIP Adv.* **3**, 032116 (2013).
- [39] L.X. Li, E.Q. Li, M.L. Wang, *Appl. Math. J. Chinese Univ.* **25**, 454 (2010).
- [40] E.M.E. Zayed, M.A.M. Abdelaziz, *Math. Probl. Eng.* **2012**, 725061 (2012).
- [41] E.M.E. Zayed, S.A. Hoda Ibrahim, M.A.M. Abdelaziz, *J. Appl. Math.* **2012**, 560531 (2012).
- [42] A. Yokuş, Ph.D. Thesis, Firat University, Elazığ, 2011.
- [43] A. Bekir, *Phys. Lett. A* **372**, 3400 (2008).
- [44] A.M. Wazwaz, *Appl. Math. Comput.* **182**, 529 (2006).
- [45] A.M. Wazwaz, *Commun. Nonlin. Sci. Numer. Simul.* **13**, 889 (2008).
- [46] Z. Yan, H. Zhang, *Phys. Lett. A* **252**, 291 (1999).